S1.No. :

No. of Questions — 30

AR Roll No.

No. of Printed Pages — 07+World Map+India Map+Rajasthan Map

= Hreafires gde, 2019

SENIOR SECONDARY EXAMINATION, 2019

GEOGRAPHY
T : 314 qUe

quliek : 56

gignidfat & forg wmre= fdw -
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1)

2)

3)

4)

5)

Tieneff Teuem 31U T U W ATk HAHerd: g |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

Tt we e fam R |

All the questions are compulsory.

Tk TeH T IR G g IeR-gfearewt H 1 fored |

Write the answer to each question in the given answer-book only.

o ueai ® sreafter @woe §, 37 a4t & IR v |9y g ford |

For questions having more than one part, the answers to those parts are to
be written together in continuity.

Ty U & R 9 el wurr ® foRet R it Jfe / s / ferienymam g W =
WIHT o T94 <l TE A |
If there 1s any error / difference / contradiction in Hindi & English versions

of the question paper the question of Hindi version should be treated
valid.
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6)

)

8)

9)

D

2)

2

Tug prakeiee) I TAH TPA I <l I1eq HHT
H 1-13 1 20 w3
E| 14-21 2 60 vrsg
k| 25-27 3 100 vreg
3 28-30 4 250 vr=g

Section Q. Nos. Marks per Word limit
question of answer

A 1-13 | 20 words

B 14-21 2 60 words

C 25-27 3 100 words

D 28-30 4 250 words

T ShHTeR 22 § 24 AT HE | HEied § o Ui 2 3 @ 2 |

Question Nos. 22 to 24 are related to map-work carrying 2 marks each.
forva, 9RA & TSEAT % U HT T W@ A i SR GiEaeht o drer et |
Attach outline maps of World, India and Rajasthan with the answer-book.
T SRR 29 3R 30 | STiaieh forshed ¢ |

There are internal choice in Question No. 29 and 30.

Qg - A

SECTION - A

‘Ta-Frafdare’ (Gt i e’ foremem e spiieram J Sidatted <t ? [1]

Which geographer propounded the concept of 'Neodeterminism' ('Stop and go')?

TR & SHteereH § Het woell o hig q1 3w fef | [Y2+V2=1]

Mention any two uses of seal in livelihood of Eskimos.
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3)

4)

5)

6)

7)

8)

9)

10)

3
farva o waiiees s 9 39 6 AW T | [1]

Name the country having the highest population in the World.

TTHIOT &t / A 72 R T foRE UehR & Stftrama ufaeu et aa €2 [1]

What type of settlements generally develop along a rural river bank?

HETR 3R J8d TR § 3R Fame | [Va+V2=1]

Differentiate between million city and megacity.

ferva o1 =aan T unl S e [1]

Which is the busiest oceanic route of the World?

fgmivdier oiR sguTvier SR # 3T<R SaTsy | [Va+V2=1]

Differentiate between bilateral and multi-lateral trade.

e farem fard 2013 & FER fava § wRa SiFEn wom W@ g ? [1]

According to Human Development Report 2013 which position does India
occupy in the World?

T SR IAHHUNT LA H 3T+ FaTgy | [Va+V2=1]

Distinguish between renewable and non-renewable resources.

FTGIA AT T Teh TS SATh HRA TR i [hE ST o STTd AT HHTT g ATeh
T ITH S Tl ¢ ? [1]

Under which plan of Government of India a poor scheduled caste member can
apply for economic assistance for house construction?
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11)

12)

13)

14)

15)

16)

4
TR H ST <ht 3Tl 39 H o 3g hig 3t 3Ur =@ | [Vat+Y=1]

Give any two measures to improve economic conditions of tribes in Rajasthan.

UG & T gANed AN & foTe stuan wrer gt g e a<ung aaiiees cnaesrt
QW? [1]

Which sea port would be most economical for a handicraft merchant of Jodhpur
to export his goods?

URA # {R S o e g FAE g Hinfers aifeufaei saesy 2 [1]

What favourable geographical conditions are available for developing solar energy
in India?

©us - 9
SECTION - B
TfehTl 3R et SIS <ht Gt fATiehd HEl oh ST=RTd <hiTaTg — [1+1=2]
i) FemTe i) =@
Compare Eskimos and Bhil tribes in respect of following heads -
1)  Habitat 11) Clothing

T et Y S o8 o 3R Swd U &R a1 R, /. 21 38 R % SaEe a1 e
MO | [2]

Calculate population density of a district having ten lakh population and five
thousand sq. km. area.

TS ShY TN St St (TOT) o AR — 3felen afigya it forl = ferdtomnati wt afvfa
HT | [Vat+VatVot+Vo=2]

Describe any four salient characteristics of Socio-economic landscape of Dharavi
Slum of Mumbai.
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17) 39 FN Ta geh WIHT § =R Famsy | [1+1=2]

18)

19)

Differentiate between dairy farming and truck farming.

AT AT o GIWTE hi Tk g Tl Rl I h AHSATST | [Vot Vot VotVa=2]

Elucidate any four remedial measures to prevent ill effects of acid rain.

WA H RIS i gl T < fo=01 3 Hig SR SRR U@ st | [Vo+Vo+o+2=2]

Suggest any four pragmatic solutions to prevent increasing trend of urbanisation
in India.

20) =TT % ST weri d T B ge Ay A srafer 1 =i 2w ww s G |

[Vat+Y ot Vat+/a=2]

Despite costlier than other means of transportation air transport is indispensable.
Why? Give any four reasons.

21) TRuet TS 3R ATUe e | SR FaTge | [1+1=2]

Differentiate between absolute poverty and relative poverty.

22) @ ™ fava & W aatas | Feifra a<angt @ sifha fifo - [Va4+Yat+Vat+Va=2]
i) oA i) wA-TeiTER
iii) wueTs iv) wwE

Mark the location of the following major ports in the given outline map of the
World :-

1) Panama i1) San Francisco

1i1) Cape Town 1v) Mumbai
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23)

24)

25)

26)

27)

6
3 ™ wra & Fan vt § it A viemvne sifeha A i [Va+ Vot Vot lo=2]
1) \Yq i) =R
iii) gfegEn iv) =g
Mark the location of the following oil refineries in the given outline map of
India.
1)  Mathura 11) Barauni
1i1) Haldia 1iv) Chennai

fo2 o1 TreTeT 3 e | fiTeRa TRt o eI ehegl SRl 3ifeRa ShITTT i [Va+Va+Ya+Yo=2]
i) fictars ii) rEETE

iii) ureft iv) oft WIAR

Mark the location of the following Cotton Textile Centers in the given outline
map of Rajasthan :-

1) Bhilwara 1) Banswara
1) Pali 1v) Sri Ganganagar
Qg - |
SECTION - C

mw@ﬁ%&aaﬁmﬁmq@%%ﬁm@ﬁﬁﬁ@mﬁww

iR | [1+1+1=3]

Describe any three causes responsible for unprecented growth of World
population during the last century.

R4 ¥ e FEae B: T gl o AW feifan | [Vot Vot Vot Vot Vot a=3]

Name six racial groups inhabiting in India.

TR JEN % WeHTEA 3 WRA H N Al v foRd < % €2 TR 5 sg@ |

[Vat Vot VotV o+ Vo4 V2=3]
What recent efforts are being made to promote fishing industry in India? Mention
any six.
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28)

29)

30)

7
Qus - @
SECTION - D

Ia S et S e e % 3 sare G | [2+2=4]

Classify human occupations and give two examples of each.

Sifereh et <ht Toht forgToanatt o ShIUT 31T 38 31U T o {ShET1 Sl UA ¥ SRa it 2[4]
e
AR % <=1 3TN B Teensii & P 3g 3 gema @i |

Due to what special features of organic agriculture would you inspire your village
farmers to adopt it?
OR

Submit concrete suggestions to resolve problems the Indian Sugar Industry is
facing.

TeTE § wEian S 1ta ot fifera vt # quia o - [1+1+1+1=4]
i) fFeman i) e T
iii) =TT SieH iv) onfdes nfafata
YA
e "I UREHT 1 auia iR videRt & sata iR ;-
i) wTEER T i) v
iii) il =g iv) oW
Describe the Sahariya tribe of Rajasthan under the following heads :-
1)  Habitat i1) Housing
1) Social life 1v) Economic activities
OR
Describe Chambal Valley project under the following heads :-
1)  Participating states 1) Aims
111) Dams built 1v) Advantages

e oo fm
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